









Group 10










Mrs. Lange

Incline Motion Lab

Purpose:  
To determine the relationship between position and time (x vs. t), velocity and time (v vs. t) and velocity and position (v vs. x).  

Apparatus and Procedure: Items:

Drawing of setup with labels:

Procedure:
(Detailed!  So anybody could repeat it.)


1.  Measure angle by…


2.


3.


4.


5.


6.

Data:
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Constant angle:
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Evaluation of Data:
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Graphs: 
IN ORDER!
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Conclusion:  
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1)  Relationship of x vs. t2

a)  General Equation


b)  Define Variables


c)  Define Slope – What it means


d)  Define y-intercept – What it means
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2)  Relationship of v vs. t

a)


b)


c)


d)

3)  Relationship of v2 vs. x

a)


b)


c)


d)

4)  Terms


Instantaneous Velocity


Instantaneous Acceleration

Average Acceleration

5)  Error (2 SOURCES from data collection-complete sentences)
θ





height





length





� EMBED Equation.3  ���





Cut and Paste neatly





No edges over the paper





Need these data columns


(Any order)
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